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Recap    Lecture 23 



Today: 

• Alternating current 
and power 

• Transformers 

• Ideal LC circuit 

• RLC circuit: 
damping and driven 
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The iron core ensures that the B per turn is the 
same in both the primary & secondary windings. 
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Transformer: 



Ideal LC – circuit (no resistance) 





L C 

The capacitor starts with charge Q.  At time t  0 

the switch is closed.  Let T represent the period 

of the circuit oscillations. 

What is the charge on the capacitor at time T2? 

A. 0      B. Q2      C. Q2      D. Q      E. Q 








